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OFEz NSYHAFS s0tSUE
7,000,000& = 13l 7,000
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2AM: #H
M Y2
Ee: HEFESAY (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HEEHB ALY 1,260,385 387,864 872,521
HHEHEANAE 2 1,260,385 380,621 879,764
201 Let24d] 337,922 262,379 75,543
01 At 22/l 123,930 110,630 13,300
Ogt+gH| 123,930
— dabA 23 1,000,000& * 1JH A 1,000
— SOOI Ol X (LTO) +¢& 200,000& = 104 2,000
—28 023 1) =&
15,0002 * 200K 3,000
—HIFHRE 48 AZEAN P 104,630
MNHE HHold A #Al 490,000 » 172 8,330
PCE HIOIH A EHAI 30,0002 * 8002 24,000
-MSIIA 2 ALERH
270,000& * 2002 54,000
-JIE HEHREE 48 2ZEAN
500,000& * 302 15,000
SAHIME ATEO(YUO0IE)
660,000& *» 52 3,300
—ZFH ABE 7¢ 11,300
StECIA3 100,000& * 5074 5,000
H2el 50,000& = 504 2,500
It < 50,000& = 304 1,500
-IJIEE 12,0002 ~ 100K 1,200
- 0FRA 11,0002 + 100K 1,100
—HYXNAGRE A28 U (ZANEBEUHS)
400,000& = 504 2,000
02 8322l 213,992 151,749 62,243
OA& &l =Xl 213,992
—LYEEAEFI(UPS) R E =
56,373,000& = 0.08 * 1.1 4,961
— 28857 RANES
41,000,000& * 0.08 = 1.1 3,608
—EXNTEBAAEKLIS) RAES
198,592,000& * 0.09 * 1.1 19,661
—USBEOHZ2IAIAE S E=
25,230,000& * 0.1 = 1.1 2,776
—2ZEQN K& Y IHX 2elAIAE KA
2 1,453,000 * 0.1 = 1.1 5,660
—SSAECA ¥ HHIH RS
551,613,000&  0.08 = 1.1 48,542
— 2-LIctAIAE 48 AZEQH RIS
131,680,000& * 0.14 = 1.1 20,279
—PCHQIBE ZEHEANLAE KRB
45,000,000& = 0.1 = 1.1 4,950
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HHYHE ALY fEH)
o
SN FH-SA(EN) - MBAY - BES e HlnE2
—2-lct HeIEE ZHEANAE |RAES
29,000,000& = 0.1 = 1.1 3,190
— NHEZHAH SA2ZAAIAE |FXE
67,800,000& = 0.1 * 1.1 7,458
—UCOHI A MAIAE RS2
210,163,000& = 0.1 * 1.1 23,118
— NN SAB=
26,600,000& = 0.12 = 1.1 3,512
—PCEQ HAF HH 22lANAE RXE*
36,460,000& = 0.08 * 1.1 3,209
— HEHAFH SAE= 63,068
-G 646,272,500& = 0.08 * 1.1 56,872
- Zelg 62,197,150& = 0.08 * 1.1 5,474
WA 200,000& = 4108 = 0.08 * 1.1 722
202 O4Hl 5,600 0
01 = LH A HI 5,600 0
Oggi ARUSES(HEYE HAFEES
2ot 5) 175,000& = 43 =« 83| 5,600
308 MXIEHMSOIH 116,863 4,221
10 B2 SUHUEE &S A 116,863 4,221
SSIIEHAIAE ST E=
1,084,767,852& * 0.075 » 1.1 89,494
O38JI8 SERALAH RAEBLX(ANZR 2E3
) 2,908,000 2,908
OMESA A8 MHIAHAT 22HI(AMZ2F &€
3) 7,000, 000& 7,000
O2-LetAlA 8 NMHIAQAD 2EHI(AIZ2F
243) 17,461,000& 17,461
401 AIEHI L 20 220,000 220,000
01 A&l 220,000 220,000
OFAA WS S 220,000,008 * 14! 220,000
405 XHoHF S HI 580,000 580,000
01 AL ESFH S 580,000 580,000
OSEAERXN & UWEHI A<X W (SAN
) 15,000,000& * 24! 30,000
OPC Mol BEES &84 WX
36,000,000& * 14 36,000
OdFLEH ¢ 514,000
—&FH S 1,500,000& * 250CH 375,000
— ZgH 1,000,000 = 2904 29,000
— &= A 8,000,000& * 10CH 80,000
— OIIs=E A 1,200,000 * 5CH 6,000
— WA 600,000& * 5CH 3,000
- ES 1,500,000 = 1404 21,000
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SN YD
M HESAMY
&2 NAEFESAY (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 42,500 41,309 1,191
< 8,616
s 33,884
02 PIZHEHAHE L 42,500 41,309 1,191
OXFE30IS T2 Q822X o1Ay|
17,235,000& * 2% 34,470
< 8,616
= 25,854
O4tiEg = 21,543,720& = 2% = 0.103 4,439
IS ESE= 1,795,310& = 2% 3,591
ZEAN0IE 29 L 2el HHa 266,447 118,440 148,007
201 Let24d] 188,447 104,440 84,007
01 At 22/l 88,655 12,455 76,200
Ogt+&H| 88,655
— QY ZEY AOIE =24
500,000& = 12& 6,000
—YAMOE Tl 2el & =5 S 6,455
-F2EHY 49,500& = 18K 891
sSt=2E 0o 132,000& * 1204 1,584
AHEO NMHIA =22
55,000& = 128 » 204 1,320
QIZtotol el MHlA =22
330,000& = 24l 660
2L S0Ia WM =2
2,000,000 = 13l 2,000
—SNS 2El= H&E 29  1,850,000& « 123 22,200
— ZEAOE & SNSE S8 =23EE
4,500,000& = 12& 54,000
02 8323l 99,792 91,985 7,807
OA & &l Xl 99,792
—dAM0E 2 AW & EEH KA+ 10,747
ZAOIE AH
31,086,360& = 0.08 * 1.1 2,736
- DNS M 7,187,180& = 0.08 * 1.1 633
-sSIIHSH &AM
5,460,000& = 0.08 * 1.1 481
- DAISD HAH MY
3,800,000& = 0.08 * 1.1 335
HAZEESH HAH MH
4,400,000& = 0.08 = 1.1 388
- AetstH 35,500,000& = 0.08 * 1.1 3,124
SAEAAN SIS
34,650,000& = 0.08 * 1.1 3,050
— &8 BAMOE 22 e SANES 67,032




SN YD
M HESAMY
el NSFESAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
TH9z =8 SA0E
370,600,000& = 0.131 * 1.1 53,404
- Ttz 2 EAOIE
19,800,000& = 0.131 * 1.1 2,854
- IAE M2t BALOIE
19,800,000& = 0.131 * 1.1 2,854
- Z250tS BA0IE
600,000& = 12&8 = 1.1 7,920
—HAOIE B¢ ATEYNH SRANES 22,013
0S EotzZ=Z2
3,600,000& = 32 * 0.11 = 1.1 1,307
0B g3t AZEYN
24,800,000& = 0.11 = 1.1 3,001
- QHUY B2MHERE
38,808,000& = 0.11 = 1.1 4,696
CEAOIE HUF M a4
53,800,000& = 0.11 = 1.1 6,510
CNH HSE BY a4
53,707,500& = 0.11 = 1.1 6,499
405 RHoHE S HI 78,000 14,000 64,000
01 AL EFSFHSHI 78,000 14,000 64,000
OMEE olgdael s34 &g
78,000,000& * 14l 78,000
ZoFESNE =& 51,300 64,370 A 13,070
201 LBH2E| 12,100 12,100 0
01 At 2t 2l 10,100 12,100 A2,000
Ogt=gHl 6,400
— e EEES 22 - EE ¥ HESuE 8
22 M S 1,000,000& 1,000
—d=2stu=E i ¢ 10,000& * 300& 3,000
—dE8susdE 2Y 200,000& = 12& 2,400
oz2g=¢ 3,700
— D2 2ClA K LA HE HESE
70,000& * 59 = 23| 700
~MUHEEE S 229 DS TAMLY
50,0003 = 4AI2t = 15 3,000
02 =224l 2,000 0 2,000
OAE ZHI S X 2,000
—d28usdE § ANE ] 2,000,000& 2,000
301 EEH = 33,200 33,200 0
09 SALAHIX A S 1,200 1,200 0
OZFLUHESWE XJASAX AU 24
10,000& » 1% » 1A » 10 » 12& 1,200
12 JIEBtE4 = 32,000 32,000 0
O=3BsUE ZAE 32,000,000& 32,000
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SN BHD
o P ALY
G2 NESHESIAIY (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
405 XHA&HF S HI 6,000 17,070 A 11,070
01 AL 2 ZF S| 6,000 17,070 A 11,070
OduE|(d=3 HE0l24H)
6,000,000& = 1CH 6,000
HdESAQIZRS 914,968 1,132,851 A 217,883
= 25,549
= 889,419
HESAAAE ST 22 591,870 1,015,709 N 423,839
201 et 9| 483,870 593,709 A 109,839
01 AF 2t 2| H| 13,940 32,700 N 18,760
Ogbte=2H| 5,300
—SAA - NEtA 2HH| 500,000 * 200 A 1,000
—HE®3 AZE R AH0E,2ES)
4,300,000 4,300
OYdx= 8,640
~-FESN Y28 HYAX
720,0008 * 120 <& 8,640
02 2224 H| 469,930 561,009 A 91,079
O2222 <2 HA 324,000
—HBENRS(2-SH #2234, olfu
&3t) 27,000,000& * 122 324,000
OAl& ZHI KX 4| 144,730
—HEBESAMSAI ST B AEH RANES
32,820,000& = 0.08 = 1.1 2,889
—HBEANMEH SAES 114,075
HERIAEH(2E L 2|2 5)
492,320,000 = 0.08 = 1.1 43,325
B oA 499,505,000& = 0.08 = 1.1 43,957
HAEXMSH(IPT)AIAE
304,457,000& = 0.08 = 1.1 26,793
— 22 2HAHY Wi-Fi) SXE%
108,313,000& * 0.08 * 1.1 9,532
— QY SSAIAE SXES
07,203,000& = 0.08 = 1.1 18,234
OXtgF - A&ty 1,200
—dEBSH HEE JIEHRFU 1,200,000 1,200
202 044l 12,000 9,000 3,000
01 2L Y| 12,000 9,000 3,000
OANESHLAI 224
200,000€ ~ 3™ * 12€ 7,200
OFEEA R4 200,000& = 2% * 12€ 4,800
401 AlEHIZL 2 0HY| 30,000 30,000 0
01 Al&H| 30,000 30,000 0




2N #HH
M HESAMY
Sl HESMTATS (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OFfAN HESUAE 81X ¢ 0™
100,000& * 3002 ¢ 30,000
405 XHoHF S HI 66,000 383,000 A 317,000
01 AL ESFH S 66,000 383,000 A 317,000
OZESHFH F 66,000
— POEA R XI 3,000,000& = 7CH 21,000
—dEHE3DI 800,000& « 30CH 24,000
—HE2SASA AT B A SE EH
21,000,000& « 1CH 21,000
IS L2I 2 51,098 47,142 3,956
= 25,549
i 25,549
201 L4l 51,098 47,142 3,956
= 25,549
s 25,549
02 =224l 51,098 47,142 3,956
03323 %2 HA 51,098
—2NHBSHY(E-2) FRILR
51,098,000 51,098
< 25,549
[ia 25,549
HEZESUANE 22 225,000 35,000 190,000
401 AIEHI L 20 145,000 0 145,000
01 A& HI 145,000 0 145,000
OQIHU I SAIAE HESEH WA
145,000, 000& 145,000
405 THobH S 80,000 35,000 45,000
01 et EFFHSHI 80,000 35,000 45,000
OZHOIXNY HULXAAE WA
35,000,000& * 14 35,000
OURAE FAXSAIAEH OlS3 25
45,000,000& * 14l 45,000
23 PEAHU(Wi-Fi) 2SAL 47,000 35,000 12,000
401 A& HIZ 201 I 47,000 35,000 12,000
01 A& HI 47,000 35,000 12,000
O33 fHAHULWi-Fi) S MY
47,000,000& 47,000
AT SE2MLEH 22 1,764,862 1,682,238 82,624
S HHAEHZ2E 1,421,862 1,410,238 11,624
201 £B-2%H| 1,252,382 1,273,838 A21,456
01 At 22l 11,790 10,240 1,550
Oget=gH| 11,370
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2A: A
M HLEFALY
el JARSESHBHME T (el @2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
— 2AD],Z8H EH(EYE) ABE ¢
500,000 * 33| 1,500
~SPBHHUEH SYSE 2
500,000& * 63| 3,000
—SE2HAE d2ATENH P2 6,870
AMHE H0l2fA BHAl 490,000 * 122 5,880
- PCE2 HiOlefA gHAI 30,0008 * 33= 990
o=2g+¢ 420
—guEEHIl 2y 4g
70,0003 * 6Y = 13| 420
02 2% H| 1,240,592 1,263,598 A 23,006
OZ2222 ¢ HMA 309,840
—CCTV MB3 MR
70,0008 = 3143/ 4 = 12&€ 263,760
— XSEsN GNEBSE2RHEH HH A2
B (NESHEHSH)
80,0008 * 1834 * 12&€ 17,280
—CCTV &olAE=2
20,000& * 1200024 = 12€ 28,800
OA&E &Y KXY 930,752
— CCTVS & = Al &2l
2,058,820¥ = 510CH = 0.08 * 1.1 92,400
-~ JATESHBHALAY R4
861,420,750 = 0.08 ~ 1.1 75,806
—JAEESE2NEAH 298 2LHERE
S| 4,455 4583 * 128 * 12¥ 641,586
— XSsu GNEBSE2ZHAH HAH 2L
HEAQLR 2AHI(RSHISELSH)
2,520,000& = 128 * 44 120,960
401 Al HI L 204 HI 41,400 41,400 0
01 Al&H| 41,400 41,400 0
OCCTV 212 = 74| 4,600,000& = 93| 41,400
405 XHokE S| 128,080 95,000 33,080
01 AL 2 ZF S| 128,080 95,000 33,080
OguNBES2MAEH AECX &4
42,000,000 = 14! 42,000
OgaNBEs2MAHAE &AM WA 46,080
— PC 2,000,000& = 18CH 36,000
— 21 H 280,000 = 3604 10,080
OCCTV HIZHS 2N 2=
40,000,000 * 14! 40,000
g E CCTV E X ALY 343,000 272,000 71,000
401 AlEHIZL £ 0HY| 343,000 272,000 71,000
01 Al&EH| 343,000 272,000 71,000
oYy E CCTVA Xl 343,000




2N #HH
M HESAMY
Sl YANSSH AR ME 2L CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— g4 CCTV Al A X (11004 360H)
5,500,000 = 36CH 198,000
—SZ4 CCTV WA (10CH) 2,500,000 * 10CH 25,000
— XMEHSoASH =&Y WX (1500)
8,000,000& * 15CH 120,000
NEelmsdo 4,905,965 4,626,291 279,674
= 15,000
< 992,805
e 3,898,160
w=EIH X 2,240,252 2,758,301 A518,049
< 792,805
e 1,447,447
St A K& 1,835,552 2,058,301 N222,749
< 751,945
e 1,083,607
201 Lt 1,680 1,680 0
01 At 22l 1,680 1,680 0
o234 1,680
~SDIAXE Aol
70,000 * 12 23] 1,680
308 XtXIEHH SOl A 1,833,872 2,056,621 A 222,749
< 751,945
[ia 1,081,927
08 I 20UetE=x 1,833,872 2,056,621 AN 222,749
Osgtw SAdl X& 1,707,872,000& 1,707,872
= 731,945
s 975,927
Ozed &4 stnga X 46,000,000& 46,000
< 20,000
s 26,000
O%+ L= 2L XA 80,000,000& 80,000
Fe g N 150,000 700,000 A 550,000
306 ¢ 2 150,000 700,000 550,000
01 &3 150,000 700,000 A 550,000
OFEZ MSLHESMNY ==
150,000, 000& 150,000
n=s P24 XA 254,700 0 254,700
< 40,860
[ia 213,840
301 LA F 254,700 0 254,700
< 40,860
[ia 213,840
01 MI28E+06l= 254,700 0 254,700
O, nssd = F2d XNIAS
300,000& = 8494H 254,700
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2N #HH
g Ngesd
& WEFHXF CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 40,860
s 213,840
AIHUEEFA2Z 1,674,592 1,700,924 N 26,332
NEEFA2IE4H3 147,090 152,210 25,120
201 Let24dH] 36,690 39,060 A2,370
01 At 22/l 4,690 4,060 630
Oget==EH| 2,800
—XANFEIH 2SN 822 S WF
500,000& = 23| 1,000
—2=0E+ EE2S 22 1,800,000 1,800
o2g+g 1,890
—WEZHNA/ARYSE 2SE+E
70,000& = 9H « 23| 1,260
—dAY A0S H> MAEIIRARSE 2
=g 70,000 * 99 = 13 630
02 =224l 32,000 35,000 A 3,000
OAIE ZHI S X 32,000
—2A=0usS7 SHOXN RAE+
32,000,000& 32,000
202 oddl 9,600 5,850 3,750
01 S LHOIYI 9,600 5,850 3,750
OUARNDEER YLEZ
200,000 = 4% = 128 9,600
203 YR =2l 800 800 0
03 A FAH S =AY 800 800 0
OA=0usS7 Y2FT 23
200,000& * 43 800
307 glz2+ol & 100,000 100,000 0
05 RIZt2IE = 100,000 100,000 0
OFAEHLA0IBA S XD
5,000,000& * 20 100,000
D AHZA BEX 290,400 290,400 0
301 LEBEAZ 290,400 290,400 0
12 JE24d =3 290,400 290,400 0
OXnW AN A BIXI XI&
48,400,000& * 6K A 290,400
20029 967,082 986,794 AN19,712
201 ¢4l 60,000 60,000 0
01 At 22l 60,000 60,000 0
ogxtz 60,000
—2Eg0i0ls tdSSHE S
60,000,000& 60,000
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O=0d4d32 4,596,870,000& = 0.045 206,860
OHZLE 4.596,870,000& * 3.335% 153,306
O AEH 133,310,000& * 4.255% 5,673
OEAZ3 270,000,000& 270,000
O=U0 bl 50,000& = 52 * 12& 31,200
A EX0SE S 15,395 60,000 N44 605
= 10,774
iy 4,621
101 @121 14,855 57,120 N42,265
= 10,396
- 4,459
01 24 14,855 57,120 N42,265
A S X &=Esd ol
14,855,000& * 1H 14,855
= 10,396
= 4,459
304 H=22=2S 540 2,880 N 2,340
= 378
= 162
02 20AUEEH= 540 2,880 N 2,340
OAMZEXN=T 21" 90,000& x 68 » 1H 540
= 378
= 162
Jl2Ad (™) 223,050 203,724 19,326
Jl2Zd (™) 223,050 203,724 19,326
201 Bt A H| 55,090 51,514 3,576
01 At 22l bl 55,090 51,514 3,576
Ogbt4=2d| 27,370,000& 27,370
OZ2 &l 27,720,000 27,720
202 044 24,600 19,200 5,400
01 2 oIl 24,600 19,200 5,400
OJlggexa 24 ,600,000& 24,600
203 ¥R =&H| 125,360 119,210 6,150
01 J|22H L RF=AH| 92,400 89,100 3,300
o=z2% 52,800,000& 52,800
Oz 36,300, 000& 36,300
O=%& 3,300,000 3,300
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4,200
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27,200
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8,000
12,000
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18,000
18,000
7,800
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4,200
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Kt
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ol

e

02 &t

KJ
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oF
<)l
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oH
RO

128

g« 128

o

o
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2 * 200¥

e

2l x 16

e

45,0008 = 160

80,000& = 100€&
60,000
400,000

5,000&

— 1002 Mt Xl
— 101~300&

— 301~600

0
0
<+
o+

204 =

128
128

2 %
2 x
350,000& = 12&

650,000
400,000

128

& o*

100,000

K0
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